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def tipose():

mathitisl.tipose()

mo = (mathitisl.vathmos + mat
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if self.vathmos >= 10:

else:
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def ypologismos(ar):
xr=0
if ar <=3 and ar>=1:
xr=ar*120
elif ar>=4 and ar <=6:
xr=3%120 + (ar-3)*100

else:

xr=3%*120 + 3*100 + (ar-6)*70
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plithos10 = 0 #mAnBo¢ atdouwy Mou ayopacayv mavw amnod 10 TepdyLa

N n 0 B 0 I I c s
foriin range(50):

ar = int(input("Awoe tov apBuod tepayiwv"))

return xr

synolo = 0 #ouvoAika

xrewsh = ypologismos(ar)
print xrewsh
synolo += xrewsh

if ar> 10:

plithos10 +=1



#12

print synolo
print (plithos10/50)
OEMA A
max =0
pl=0
athr=0
KOD =]
VATH =[]
kodikos = raw_input("Awoe kw
while kodikos !="TELOS":
KOD.append(kodikos)
vathmos = int(input("Awoe Bad
# €\eyxog eyKLPOTNTAG TLHLWV
while vathmos >100 or vathmos

vathmos = int(input("Awos Badpuo'
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if max < vathmos:

ma S
kodikos t



mo = athr/pl

# £é\eyyog

foriin range(len(VATH)):
if VATH[i] == max:

print KOD[i],max

f = open("epityxon.txt","w")
foriin range(len(VATH)):

f.write(str(i) + "." + KOD[i] + str(VA
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f.close()




